


Question 25 
 

Sample 1 
 
XH – XG = (e+E‐H/T)/cE 
0.7 – 0.055 = (19,160/20,000 – H/1.025)/1.25*0.6 
H = 0.4861 
rG = 0.95/0.6 = 1.583 
rH = 0.2/0.6 = 0.333 
rG – rH= (G‐H)/cET 
1.583 – 0.333 = (G – 0.4861)/1.25*1.025*0.6 
G = 1.447 
 
 

Sample 2 
Ψ(rH) = 0.7 + 0.2/0.6 – 1 = 0.033 
GCP = T(e+E)  
19,760/20,000 = 0.988 = 1.025(e+0.6) 
e = 0.3639 
E = 12/20 = 0.6 
I = 0.6(0.055 – 0.033) = 0.013 
b = e – (c‐1)E + cI = 0.3639 – 0.25(0.6) + 1.25(0.013) = 0.2302 
G = (b+crGE)T 
rG = 0.95/0.6 = 1.583 
G = (0.2302 + 1.25*1.583*0.6)*1.025 = 1.4531 
 
Sample 3 
 
GCP = 19,760 = (e+E)T 
e+E = 19,160 
E = 12,000 
e = 7,160 
T = 19,760/19,160 = 1.0313 
B = e – (c‐1)E + cI 
cI = c(XG – SH)E 
b = 7,160 – 0.25*12,000+1.25(0.055 – 0.0333)*12,000 = 4,485 
XG = 0.055 
XH = 0.700 
SH = XH+rH‐1 = 0.7+1/3‐1 = 0.03333 
rH = LH/L = 0.2*SP/12,000 = 4,000/12,000 = 1/3 
G = (b+LGc)T = (4485+19,000*1.25)*1.0313 = 29,119 
LG = 0.95*SP = 19,000 
G ratio = 29,119/SP = 1.456 
 


